A & Ol & AF S Al A
2020 & 20 A 2L BHE| K|
A 100 KA
Z: 110 XAl
g 111 2SMl (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
£ A 710,000,000 635,600,000 74,400,000
100 Xl Al 4= & 63,106,000 52,196,805 10,909, 195
110 X Al 63, 106,000 52,196,805 10,909, 195
111 ESAl 62,256,000 51,346,805 10,909, 195
111-03 =01 Al 2,210,000 2,200,000 10,000
[ 283 ] 2,210,000 2,200,000 10,000
< H2 > 2,210,000 2,200,000 10,000
ORS2(H2) 674,500
—lelrsE 564,500
SHSXY 10,0002 * 40,450 CH 404,500
HQIANY Xt 2 50,0002 * 3,20000 A 160,000
—HoRsE 100,00094 * 1,1007H & oI 110,000
OTHAHE (M2t 25080 * 1,150,000m 287,500
OZLAZ (M) 20,800,000,0002 * 5/1,000 = 128 1,248,000
111-04 TH AF Al 9,822,000 9,300,000 522,000
[ 2Bt3H ] 9,822,000 9,300,000 522,000
<M > 9,822,000 9,300,000 522,000
OEXZ(H=21) 2,368,844,300,0002 * 0.199% 4,714,000
FEUE(H2D) 1,655,618,000,000& * 0.178% 2,947,000
OAESE2 (M) 943,668,200,0002 * 0.229% 2,161,000
111-05 Xt S &tAl 17,000,000 17,500,470 A500,470
[ 283 A ] 17,000,000 17,500,470 A500,470
< MR > 17,000,000 17,500,470 A500,470
OZEXNSH(NRD) 212,800 * 38,500CH 8,192,800
OSEHNSH(NRD) 61,7508 * 6, 140CH 379,145
O ESNSH(N2 ) 27,0708 * 16,000CH 433,120
OXNSIH 2EF2(HM2D) 160,000,000 * 128 1,920,000
O24dM BEXZ2 (M) 506,244,590 * 122 6,074,935
111-07 ZHi A HIAl 7,524,000 7,546,335 A22,335
[ 2833 ] 7,524,000 7,546,335 ~22,335
< M2 > 7,524,000 7,546,335 N22,335
O (M2 D) 598,475,000 » 12& 7,181,700
O2&H (K2 D) 28,525,0008 * 12€ 342,300
111-08 X' A HIAl 10,700,000 0 10,700,000
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< M > 10,700,000 0 10,700,000
OXI & AHIAl (Ml 2t) 10,700,000
— oS dEAMY BHE 7,996,000,000& *» 14 7,996,000
- X282 2,704,000,000& * 14 2,704,000
111-09 X &S Al 15,000,000 14,800,000 200,000
[ Letsl A ] 15,000,000 14,800,000 200,000
< ML > 15,000,000 14,800,000 200,000
OaSE (M=) 15,000,000
—SEASAHE 17,000,000,000& * 10/100 1,700,000
—LdEASAHE 8,000,000,000& = 10/100 800,000
—gelA=E 77,000,000,000& * 10/100 7,700,000
- S8 48,000,000,000& = 10/100 4,800,000
M3 At =g 850,000 850,000 0
113-01 AftE ==& 850,000 850,000 0
[ el A ] 850,000 850,000 0
< M > 850,000 850,000 0
OXgdE = (M) 850,000,000 » 14 850,000
200 Al2l+=¢ 18,892,648 15,170,477 3,722,171
210 3 HAN A+ 10,020,984 8,097,353 1,923,631
211 THAH O ==& 274,888 247,852 27,036
211-02 SR MU= 274,888 247,852 27,036
[ 2etsl A ] 274,888 247,852 27,036
< ML > 274,888 247,852 27,036
OSINAHAZRE MS2(nSHF D) 1,300,0008 * 18 1,300
OJIet SFMHMLUHE(MESHED) 23,539
—A=AME3 1,724,000& * 13 1,724
— B E 2 883,000& * 13 883
—HOIEESEE 536,000& * 13 536
—E7E3 819,000& * 13 819
—HSsHHNSRE 638,000& * 12 638
—dJ|HH 438,000& 12 438
— Gt 1,052,000& * 13 1,052
—dHH83AE=xZ2E 1,704,000 * 13l 1,704
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- +o0y 500,0008 * 13| 500
-Z=HS2Y A== 245,0008 * 13| 245
—AUAYT I AUE 15,000,008 * 13] 15,000
OYFAUINBALHE YHS(OISHAHED)
2,880,000% 13l 2,880
OBRMAAUE(3IH D) 120,364
—- X 100, 172
SR DY 4,830,881,3408 * 10/1,000 48,308
= 786.,465,6502 * 25/1,000 19,661
ol e 644,076,7402 * 50/1,000 32,203
-2 = 20,192
= 264,339,5208 * 25/1,000 6,608
ol & 271,685, 1302 * 50/1,000 13,584
OYFs L= AUE(3HD) 24,384
- oy 864,0008 * 264 CH 22,464
-8y 80,0002 * 2KICH * 122 1,920
OZAHMESAY BRHA AUHE(SAID)
20,000,0008 * 14 20,000
OYHE 15 JtH SRH& AUE(TAD)
2,378,008 * 1l 2,378
OYHEl 25 HAEGHSA ZRML AHE(SAID)
604,0008 * 13| 604
OZYZEY ASR(ALD) 31,612,2208 + 11 31,612
O=Y HIOIBY AEE(AED) 13,100,000% * 1& 13,100
ONENBL M AUE(SHE D) 1,530,5208 * 43 6,122
OSSN FESABNEY AUE(SEXNE D)
7,729,008 * 1l 7,729
OSSN SSHSNBY AU (SEXE D)
4,876,300% + 13l 4,876
OL4AE YD SHSBIE ASSIIN B2 ASS (24
HABRIARA) 16,000,0008 * 174 16,000
212 AEESY 1,882,639 2,061,739 A 179,100
212-01 TRAEE 219,090 219,090 0
[ ersld | 219,000 219,090 0
<HeB > 219,090 219,090 0
OZ2ANEBE(2H)(ALD) 5,000
—ATE, A 400% * 25,000m * 50/100 5,000
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212-05 AIEAIEZE 86,739 86,739 0
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-EXZ 6,770,670& * 128 81,248
—Ad==2 457,620 = 128 5,491
212-07 g ¥ =2+ 357,000 352,400 4,600
[ el A ] 357,000 352,400 4,600
< M > 357,000 352,400 4,600
O30 LdHFZ(2tM=a2 3,500,000& * 23| 7,000
Oas=NE LEI(aMBE2IARA 350,000
—JHer(er) 239,000
g 3,000& * 75,000 225,000
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ol glol 1,000& = 7,000 7,000
—JHer(ze) 56,600
g 1,500& = 30,000 45,000
ESE S 1,000& = 10,000& 10,000
01 &l ol 500& =+ 3,200 1,600
= 54,400
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- S8&(g24 0t0l2) 10,0008 33 » 12& 360
— JIEH(HDIR) 10,000 = 23] » 12& 240
O3 QEULE QUARAE AES(HBEED
20,000,000& = 12 20,000
OAU=gH MER(WSTEDL) 888,000
— =g 51,000,000& = 12& 612,000
—dA 8,500,000& * 123 102,000
— T2 H(438) 14,500,000& = 12& 174,000
OFZINE(H=sEED) 1,300
-4 100,000& * 138 = 5& 500
—Eg 70,000& = 13| » 5& 350
—H=s2 A 150,000& 13| = 3& 450
OBXZIF(MEMED) 9,000
-5d 70,0008 = 53 = 12& 4,200
—Hg 50,000& = 83| = 12& 4,800
OZUMSHEH (M EL) 2,700
-5 150,000& * 13|  6& 900
—Hg 100,000& * 18| = 6& 600
— M=z @A 400,000& = 13 = 3& 1,200
OZFUMSHEH(E=ZIE)(MSIEL) 810
-4 70,000& = 13| » 32 210
—Hg 50,000& = 13 » 3& 150
—H=s2 A 150,000& 13| = 3& 450
Odegs2(MsED) 2,040
-5d 80,000& = 13| » 6& 480
—gg 60,000& » 12| ~ 63 360
—H=s2 A 200,000& * 13|  6& 1,200
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U =ES 4,100
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-3y 2,300
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OYFA HAEHSHOE A2 (OISHAEHY)
50,0008 * 103 500
OBMSSHE AMS2 L (HHIATHSS D) 24,000
-Jlz & FHOlns 5,000 * 5008 * 40 * 23 20,000
— O LIS 5,0009 * 20098 * 2IHE * 23 4,000
OR2&4 AZ2(ZAID) 5302 * 8,000€ * 12€ 50,880
OSJIH LU MEBR(SEXZD) 20,0009 = 6,0003] 120,000
OSMABeE2 Z208 2 (02X D) 36,000
- SQLMERA(FR,0F) 5,0008 * 30 = 803 12,000
—2QMERA (R, 0H) 5,0008 * 209 « 803 8,000
-~ HSEQANERA(SCIA,ZX) 5,000 » 20 * 803 8,000
—ME0IEsME R (282, 22M) 50002 * 20 * 803 8,000
213 =224 2,387,616 2,008,956 378,660
213-01 SN+ 708,711 761,891 A53,180
[ Letsl A ] 708,711 761,891 A53,180
< H2 > 708,711 761,891 A53,180
OXNSX SE(RSHFD) 73,188
—ANREE 2,0009 * 2504 * 12€ 6,000
—-HASE 1,3009 = 1502A * 12€ 2,340
—0IXEE 1,0009 = 900A * 12€ 10,800
—gAias= 1,0009 = 270A « 12€ 3,240
- NEgAH 50,0008 * 7524 * 12€ 45,000
- Hgaa 1,0009 = 180A * 12€ 2,160
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—SS0d % SEANY #Z 1,00020 * 63021 » 128 7,560
- NgHd ¥ 24 50,0008 * 3521 * 12 21,000
-S53 % 5008 * 302 * 122 180
-S54 23 5008 * 11024 * 12 660
— A& ZS MBS 2,500& * 402 « 12 1,200
Ost3a AE= (M=) 115,500
— o 36,000
- & QI(15M014) 50,0008 * 6007 30,000
HE 30,0008 * 2007 6,000
— 2ol (s32) 27,000
- & QI(15K1014) 150,0008 * 1207 18,000
kS 90,0002 * 1007 9,000
— 2 52,500
- & QI(15K014) 350,000 * 1207 42,000
LRSS 210,000 * 507 10,500
OHRze SEA 23 (M=) 2,016
—HSEMA(LM)ZSSA 8002 * 20024 * 128 1,920
- g, 3sFeotAR 800 * 102 * 12 96
O MS(MOHSS At 9,420
NEBHSZBSA 1,000 * 30021 = 124 3,600
— 2N A EOIA 3002 * 5024 * 12 180
— 230 U EYIANABEA 2,00020 * 1021 = 128 240
—LsgA 600 * 30024 * 12 2,160
- HxSE 1,00020 * 10021 = 128 1,200
- FUSES ()= 4008 * 41024 * 122 1,968
—JIEt M5 3002 * 202 * 12 72
Olad+ X+ (MOISS AL 5,0002 * 10,0002 50,000
ORQl glg £3J| 2L (MOISSAD) 10,000
- FUSSS(x)= 9 4009 * 25,0001 10,000
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OAZSM2 AXe =22 (35 It) 11,735
— & 28,000 = 22024 6,160
—Ho(43)HE 9,300 = 47024 4,371
—&AHZ 26,5003 » 3024 795
—ADBEMHLR 5,300& = 30A 159
—pisE 23 5,5008 * 4021 220
— 83 s MHE=2 3,000 = 10 30
SEEES I EICPED 6,600
— AEF A D 6,600
- of ot 20,0003 » 204 = 123 4,800
&l 5,000& = 3024 = 128 1,800
OXXHMEL(EXNZEED) 98,832
—EX(Z0H=E 1,400& » 14024 » 128 2,352
—EX(Z0hHEY 1,000& » 8024 = 12& 960
—EX(YoNX=HE 1,000& = 704 » 123 840
—EX(gonudse 500& = 5,5004 = 123 33,000
—XH(Yonzse 700¥ * 4,000 = 128 33,600
— HE S AIXIJHE 1A 800& = 3002 = 128 2,880
— EX0ISH & &0l A 1,000& * 1,500 » 12& 18,000
—As=22HEs= 500& = 1,2004 = 123 7,200
Ozs88sm e (EXNFEN) 8,000& = 700A 5,600
OIS PR HBY (AL 22D 94,500
— XN g2 20,000& = 3,200 64,000
— oo e 10,000& = 50A 500
— A H=F 3,000& = 10,0002 30,000
213-02 Al MelsF &0 =& 861,000 861,000 0
[ B3 ] 861,000 861,000 0
< M3t > 861,000 861,000 0
OMYIIHE 2E B+ (RLLSSL)
300& = 2,300,0000H 690, 000
Osalg MMl 25 B4 (HFLED)
150& = 1,140,0000H 171,000
213-03 MESS=HEMH=+E 110,000 110,000 0
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[ 285K 110,000 110,000 0
<MD > 110,000 110,000 0
OME2E £ TS (BFALA)  100,0008 * 1,100 110,000
213-04 JIEt =22 707,905 276,065 431,840
[ 23 ] 707,905 276,085 431,840
< H2 > 707,905 276,065 431,840
OUEMEHIIES HAS(B#HESH) 5,0009 * 40,000H 200,000
OOCIZALSHB AL (MOISE ALY 61,100
-0 2403 8,0008 * 6,000 48,000
-5 2402 7,0008 = 1,700 11,900
—e40iA S 3,0008 = 400A 1,200
OFXNFRUA ZHXL2(HR24, NSH S)(MOISEA
) 3,0009 * 800A * 12€ 28,800
OXMNHRDY ZHL:22 (LA S UKL 22)(E
XNEE D) 15,0008 * 122 180
OMEHIISX +4+2(BHALL)
602 * 15,000kg * 30 = 128 324,000
OUWEHIISME =2 (SFALL)
8,0002 * 300§ * 30 = 12€ 86,400
ORLXH2AE A +42(SFAIYL)
0.5580 = 45,000kg * 252 * 12 7,425
214 At 958,581 984,846 N 26,265
214-01 AML & A Ab S 6,000 36,000 30,000
[ 283 ] 6,000 36,000 30,000
< H2 > 6,000 36,000 A30,000
OB HolZE GIEE MAQ(JSXD)  2,0008 * 500kg 1,000
OAEZ MADA(IEX D) 1,250 * 4,000kg 5,000
214-02 R34 4,600 4,600 0
[ 283 ] 4,600 4,600 0
<MD > 4,600 4,600 0
O3EANE FIUEIY +E2(L X2l Z M)
15,000,000 = 23| * 0.1 3,000
OSSANE U &2 (LX2lZHD)
8,000,000 = 23| * 0.1 1,600
214-08 QA2 At 4 947,981 944,246 3,735
[ 23 ] 947,981 944,246 3,735
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< M > 947,981 944,246 3,735
OEAX A &EH = (EHAL ) 543,012
— Sz (2eRE3) 7,3008 = 1,850€ » 12 162,060
— BN H(HRZ) 17,1603 * 1,8508 ~ 12 380,952
ORAIZA FaHl +=L(2A A 287,414
—SXd S (2eRE3) 3,900& = 1,820 » 123 85,176
— BN =H(HRE) 9,260& * 1,820 » 123 202,238
O=2AXA HLYFS(2AAMGL) 2,217
—BE I 4,200 * 4503 1,890
—ME=ZEEE 8,180& + 40¢& 327
Odz & A= (HY2ell) 110,048
—SXd sz (2eRE3) 500& =+ 1,000E = 12& 6,000
— BN H(HRE) 5,1708 = 1,200€ = 12 74,448
—AZATH(ERZ) 40,0003 = 20¥ = 128 9,600
— 2EAEAM 10,000& » 2,000 20,000
Ongas(Hd2ell) 5,290
—BE I 4,200& = 1,000 4,200
— ZEIFEA 5,000& = 120 600
—ME=ZEEE 8,180& * 60Y 490
215 d=nfa3+Y 1,036,260 987,960 48,300
215-01 w23+ 1,036,260 987,960 48,300
[ LEH3IAH ] 1,036,260 987,960 48,300
< NS> 1,036,260 987,960 48,300
OgZHEHERE3E+ WS (BB E3)
1,400,000,000& = 9/100 126,000
OZMEx NES (M) 808,200
— FHSA 23,000,000,000& * 3/100 690,000
— SEYGAl 2,020,000,000& = 3/100 60,600
— KNS TH AL A 1,620,000,000& = 3/100 48,600
—AHEE =g 300,000,000& = 3/100 9,000
OsXNEERLZ 21, 282 === (3 Jt1)
8,000,000& =+ 12& 96,000
OT2AEE 4 WR3(dlJt) 20,200,000& * 30/100 6,060
216 Ol Kt==¢ 3,481,000 1,806,000 1,675,000
216-01 S0 S0l X+ 3,481,000 1,806,000 1,675,000
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[ el A ] 3,481,000 1,806,000 1,675,000
< M > 3,481,000 1,806,000 1,675,000
OBSHS (M) 9,000,000,000& * 28 * 0.45% 81,000
OFIIM= (3 A1) 250,000,000,000& = 1.3% 3,250,000
O 2 MHHH D1 -MMDA( 3! I 1t) 25,000,000,000& * 0.6% 150,000
220 A HA2 =L 8,871,664 7,073,124 1,798,540
222 RE= 779,200 500,300 278,900
222-01 AXSH2A2ES 250,000 0 250,000
[ 2etsl A ] 250,000 0 250,000
< ML > 250,000 0 250,000
OSRUSHIEAS(MAE, 2, S35, 28, g3) (2
) 50,000,000& * 5JHAIZ 250,000
222-02 LBt2 g3 529,200 500,300 28,900
[ 2etsl A ] 529,200 500,300 28,900
< ML > 529,200 500,300 28,900
OCCTVZ MM E JI2tHM 22 XF 21248 (HA T 1t
34,700,000& = 12H 416,400
OCCTVZ R AIE 3l dAISZ (™ TH o)
100,000 * 3434 123 40,800
OUMAMBUAZTE 2E3(510tD) 800,000& = 50A 40,000
OMg=egs(EXNEED) 8,000,000& * 824 = 50/100 32,000
223 M SLUEHES 407,320 432,320 A 25,000
223-01 &3 29,400 29,400 0
[ et A ] 29,400 29,400 0
< M > 29,400 29,400 0
OSuEx 1y Az (RsdF ) 4,000
— 2 1,000,000& =+ 3A 3,000
— A& X e 200,000& = 52 1,000
Ogrogratz 1z (LS8 200,000& = 302 6,000
OS2 B3 (ResdF ) 400,000 * 32 = 128 14,400
OFAdE s BHAS(OtsEFAHED) 1,000,000 * 42A 4,000
Ozt HaAh RIS (EH A D)
500,000& = 22 1,000
223-02 Ol A K= 65,000 100,000 A35,000
[ Letsl A ] 65,000 100,000 A35,000
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[ 2etsl A ] 12,000 10,000 2,000
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223-05 WEH = 300,920 292,920 8,000
[ el A ] 300,920 292,920 8,000
< MR > 300,920 292,920 8,000
OoMgdl 28 S NS (2HZESH) 200,000& = 502 10,000
Ostzzgy et BEeHs(#2E23H) 500,000& * 10 5,000
O=83Y NHIY AL BEHS(HFIESD) 1,500
— 28 BEHS (1A E 100,000 ) 100,000& * 15A 1,500
OJEEn 22Y /vt WS ($#FESD) 500,0008 * 3A 1,500
OXUEE NS (SHF W) 174,000
— K&y 100,000& = 5524 » 12& 66,000
— 0ot 600,000 » 1524 = 12 108,000
OXNsi S5 HHE(sSHI DY) 70,200
—MRSE XA 50,0008 = 54 * 12& 3,000
—BH3sS=E Ad 100,000& = 104 = 123 12,000
—0dsE X 100,000& * 124 = 12 1,200
—Z A2t Z1 100,000& = 354 » 12& 42,000
—24sE XNd 250,000 » 221 = 128 6,000
—d5SE Nd 250,000 » 22 = 128 6,000
OA&EIA NS (RSEFH ) 6,000
— A JI2t 50,000& = 102 = 128 6,000
OAZ9 MY 2t BEHs(2Z2HED) 200,000& = 102 2,000
ONESE NS (MOISSALL) 20,0008 = 34 * 123 720
ORsaaHel 28 HHS(EXNHED) 2,000,0008 * 15H 30,000
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224-05 D183 24,000 12,000 12,000
[ LEH3IAH ] 24,000 12,000 12,000
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SENESH MES(RSHEL) 1,500,000& = 12& 18,000
ORNEXZ S#=x(S#HFM) 300,000& = 2024 6,000
O2st=s2 Htety AEZ(230=32) 1,450
— 39 deted| 50,000& = 23 » 12& 1,200
— 2l el 50,000 = 53l 250
OM=Es S HIANAEZ(MEIELDL)
154,000& = 134 * 123 24,024
QAU+ E HIANEZ(MEIEDL) 1,800
—dHI83AEZ=xZ2E 150,000& = 128 1,800
OXYAHIAM (X2 D2A) (M) 6,000,000,000& * 14 6,000,000
OANZL1 XNSEESAE X2 (MR1) 250,000
—sg=d 220,000,000 = 14l 220,000
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CO=EXANLISELAY 165,696,0008 * 14! 165,696
ool 3N 3,141,881,0008 * 14! 3,141,881
Foh+e XA OIx) 282,696,0008 * 14 282,696
ZOHSE X (XA ) 260,699,0008 * 14 260,699
oo 24| Xl @ 150,637,000& * 14! 150,637
Z 0l 2 XD D| X & 2,273,000 * 14! 2,273
Y EAAMME2S 1,800,00021 * 14! 1,800
SENAS 0 (HLH) 3,337,823,0008 * 14! 3,337,823
SSTHAL SISO (HIRF)  4,000,0008 * 14 4,000
Zohol = X L X2l Ab S 150,510,000& * 14! 150,510
Fohol Y erE A X2l Kl & A 229,520,0008 * 14| 229,520
ZHOH QI B A X 2I AR (AIREAI) 38,274,0002 * 14! 38,274
HEZOHSLE X2 2,800,0002 * 14! 2,800
SLTHEAHIA 182,560,000 * 14! 182,560
LA FLESMHE AT 296,049,0008 * 14 296,049
HAGLYRIS MU RS HSHH AT
172,285,0008 * 14! 172,285
FojANFAL 2 2,960,633,0008 * 14! 2,960,633
FOHAAFALSY(SINEIINUMSN )
2,227,0002 * 14! 2,227
T NLTHEA LI S2Y 12,460,0008 * 14! 12,460
ColYNRl L AE S X 3,573,429,0008 * 14! 3,573,429
JEAI XA 58,504,861,0008 * 14| 58,504,861
2L L2 X 198,056,0008 * 14! 198,056
YRAL SR 535,910,0008 * 14 535,910
OOtSHAE D 14,604,698
—OEMRYSIIIME2Y 181,710,0008 * 14! 181,710
— ool X 989.630,0008 * 14 989,630
~ESDERAAY X 1,983,474,0002 * 14! 1,983,474
- E2RDAAH M 700,323,0008 * 14 700,323
ool egx e 36,818,0002 * 14! 36,818
Ade0tES2 N 4,923,184,0002 * 14! 4,923,184
- B YSSE 1,075,847,0002 * 14! 1,075,847
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& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
~SS0OHALLX (HEHSS0IATHE2AL)
1,303,000& » 14 1,303
— NATHH R E NS X2 EHIALS 1,035,000,000& * 14 1,035,000
—R2MSALEEIANL 500,000,000& = 14| 500,000
OIS 2t 112,378
—HEFEINAZMAME2ZI XA 112,378,000 = 14 112,378
OMGOtS S At 60,072
—ANZHSMICUOIHXR 29,041,000& = 14| 29,041
~NERNAZMMETASAR S22
3,728,000& * 14 3,728
— MU ZH X 14,170,000& * 14 14,170
—IIIFZHHESMENH 13,133,000& * 14 13,133
OMHI T2 A T 34,314
—ZSSESUANAAAT 34,314,000& * 14 34,314
OA&n 1,738,000
—S23AMNSUAE NS FH AL 250,000,000& * 14 250,000
— =00 (RI&) 1,488,000,000& * 14 1,488,000
OA=n 4,963,483
— W) =MHEZH(FASH) 4,953,983,000& » 14 4,953,983
—SHEZHAFHINEXZ A 9,500,000& * 14 9,500
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— HE S AIRIJbEAFAEE 64,200,000& * 14 64,200
— X &zte 6,951,000& = 14 6,951
— N &ETHZALALS 505,764,000& = 14| 505,764
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— S HANAAE NN 24,500,000& * 14 24,500
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—HASSIHHAZHM=2SXE 72,000,000& = 14| 72,000
— FNEEIIXNS XA 1,500,000& * 14 1,500
— SR EENHE LRI S KR 1,000,000& * 14 1,000
— S sLRrENR 1,000,000& * 14 1,000
— M EENAHXN S NRMA =S XA 1,500,0003 14 1,500
Oz Zzel 88,881
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- SE23 0L 302,876,000 * 14 302,876
OZZNEY 185,670
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—AANZHAESELNFYXE 23,400,000& = 14| 23,400
— =2 EHA&ZH X J 10,000,000 * 14l 10,000
—EHE=sE8IEXA 21,700,000& = 14| 21,700
— SISO E At 41,120,000& * 14| 41,120
—SE0txEYs 4,000,000& * 14 4,000
— SMNSHAZIIHELH RS X 30,000,000& * 14 30,000
— IS AL SN 22,550,000& = 14| 22,550
— IS EEH XX 80,000,000& = 14 80,000
—AHNEEXE 4,000,000& * 14| 4,000
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521-01 Al - THIEXZ2S 61,598,707 41,081,256 20,517,451
[ et A ] 61,598,707 41,081,256 20,517,451
< Il A > 61,598,707 41,081,256 20,517,451
O=2120 O =4l 20,551,164
—=S2d44 8,000
=32 0IS¥EN A S 8,000,000& = 14 8,000
— X2l & A 596,976
-ZANFEEUASHAM(NEF=EE U Xtel AL )
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FA g2l REM (NS I L2 AIY)
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Ar2I H D1 AHY OH 2 I X2 AHY 10,620,000& = 14l 10,620
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520 Al - SHIREZ2S
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68,000,0008 * 12| 68,000
MBI EIIUAIS EE2X ALY (FESY)
3,300,000 * 12| 3,300
OI2)IUSHANY (BEEY) 7,500,000 * 12| 7,500
cANEsSHEXME(ZESTY) 37,349,000& * 14 37,349
-REXNAY 19, 140
- GAPOIE M 2 M X & 8,250,000 * 14| 8,250
- SNESTSHEH X 3,600,000 * 12| 3,600
S A2 0 E X R ALY 540,00091 * 12| 540
BarEzssHEs 1 6,750,0008 * 14| 6,750
—sz3=250 715,420
- MEH D RHM S E X AY 3,000,0008 * 124 3,000
- RYHASIWSII AT Z ALY 67,200,000 * 12| 67,200
-EHATZOENSY 6,000,000 * 14| 6,000
CREXNESATOEHSY 450,0008 * 14l 450
- MEAMEBAMRSAMEXR 1,350,000& * 14 1,350
SEHHYSHENS 13,323,000 * 12| 13,323
OhM S S T oH 0l & AF S 15,000,0008 * 12| 15,000
R SPIp === 105,600,0008! * 12| 105,600
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HASESUMNAXOAISS ALY 67,264,0002 * 14 67,264
- RS S RIS 19,444,00080 * 14! 19,444
HESNASCL0I N (NAFTTH)
32,716,008 * 14! 32,716
- NGAMB M ASTIAI (RS SY)  17,286,0008 * 14 17,286
COARIE S SN RAY (BSEY)  9,182,0008 * 14 9,182
— AEI= X Dt 4,697,292
HUQUNLRY 161,783,00021 * 14! 161,783
CLoItEEE AU~ 235,400,0002! * 14! 235,400
ST AL S B YAY 165,696,00021 * 14! 165,696
T 0K Ol 4 2 K| & 403,956,0002 * 14! 403,956
=N ES=SNENGIES 36,347,0008 * 14! 36,347
NS (RAS) 33,518,008 * 14! 33,518
ZoHelo 2 X & 11,298,0008 * 14! 11,298
- EOfOI R XXl 170,0002! * 14! 170
HHECAANE 2 54000080 * 14! 540
SEXNLZ0(H2H) 429,149,00091 * 14! 429,149
ESTHASESRLENMSO(HIRH)  514,0008 « 14 514
T OH QI = X 2 K2l At 45,153,008 * 14! 45,153
S EOHOI LB X2l X ALY 68,856,0008 * 14! 68,856
CTOHOI LU E ARRIAY (AIEH)  11,482,0008 * 14 11,482
0S8 ZOHQSAHI BRI 3600008 * 14! 360
CRYENY A 23,472,008 * 14! 23,472
CEYHAEAEENY A 38,064,00080 * 14! 38,064
CEHAUZSHS MY DS ES AL AKX
22,151,008 * 14! 22,151
HOHIAFALSY 380,652,0009 * 14! 380,652
CHHUAFAL2S(BIHIIALNE)
445,0002 * 14! 445
CHOH Y EALI S22 3,738,000% * 14! 3,738
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
CogdXielEAS 2SI 1,072,029,000& » 14| 1,072,029
JI=g=X&E 1,300,108,000& * 14 1,300, 108
- EEREHH A I LS X 178,251,000& = 14 178,251
- AZANE2ENE 68,903,000& = 14 68,903
cENLUSSTNUSSLHELENBAZ2EXE
5,257,000& = 14| 5,257
—otsEAEY 4,435,002
HEMZLAIIdEHEY 27,663,000 * 14| 27,663
- Ol0l==s A& 127,238,000& = 14 127,238
SRNAHAAAHIX A 991,737,000& * 14 991,737
SR RMA 350, 161,000& * 14 350, 161
Oelol82gXd 18,409,000& = 14l 18,409
gdRIEE2 XA 1,325,473,000& * 14| 1,325,473
s+ 289,651,000& = 14! 289,651
S3SEHBE TR 117,000,000& = 14 117,000
SR2LHEH2EXE 472,000& = 14l 472
LLINEAEOSHS AN XS 396,000& * 14 396
S2SEISHE=FAE 1,296,000& * 14| 1,296
OS2 ARXH 5,790,000& = 14 5,790
Ot =Xl AHTHA X & 16,990,000& * 14l 16,990
CEAHEMIXE 14,318,000& 14 14,318
OlsE2sdE8REEE 1,400,000& = 14 1,400
llSSsSHAAE XS 9,855,000& = 14 9,855
Ol==sH2CH XA 675,000& = 14 675
ANSotsHEH2E A& 110,827,000& = 14 110,827
SE=ANFotSHE XS 3,346,000 = 14 3,346
A0S SE=SHEXE 3,288,000& » 14 3,288
N OtSHHERZS N 608,000& * 14 608
Ots=gs0i3 418,525,000& * 14l 418,525
Ots+=gHE=2g 131,000 * 14 131
HASSHEELAEHALESNE 5,460,000& = 14 5,460
HelolE&asAg 102,000,000& = 14 102,000
SGE=RVUESE= =) Fal 4,500,000& = 14 4,500
- OEl OB EAEZAAE S HIHI 3,826,000& * 14| 3,826
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& 500 X3
2 520 Al - EHIEEXSS
8 521 Al - ZHIEE3S (2r9:88)
Z.p-8-2 0 &k o4 B ol by HZE2
Ol=SSHEXHXNE 7,500,000& = 14 7,500
- NSotsHBEEZE NS X 1,295,000& = 14 1,295
S HESNM=C NN (NAECS)
4,090,000& = 14 4,090
IIFHHHE (ZESY) 225,000,000 = 14l 225,000
-t ESEUoH XML SHIXI R (A2) 45,000& = 14l 45
NEEZEGENGLARIENR 24,162,000& * 14 24,162
AYNHUGSHNENAHE SSAHYIAT
44,730,000& * 14 44,730
SIRRIIETNH S FHIEXE 38,416,000& * 14 38,416
BAUSERTE XA 349,000& = 14 349
C2 I ESES ALY 48,904,000& = 14 48,904
HOINH=EZ2E0FHLL0ISAY 449,000 * 14 449
LAOLSIHEX A 3,546,000& * 14 3,546
NEotsEsdElI22I XN 23,099,000& * 14 23,099
FAHLUSOIH0I2E K& 48,429,000& = 14 48,429
BAES-HANL2IEARJI XA 300,000& * 14 300
NZEAESENEZZ OS2I XA 13,653,000& = 14 13,653
-2 5,550
ARAS SX SN HE X & 5,550,000& * 14 5,550
— OF& TH &1t 464,476
IHHHHSESE=d 870,000& = 14 870
- ROEYSIo LB 399,008 * 14! 399
et w29l 2,316,000& = 14 2,316
SEOINFALER(HSESS0IAYIHB L AY)
391,000& = 14 391
AT LIS E X FEH AL 310,500,000 = 14l 310,500
SEMFANEEIAMNG 150,000,000 = 14 150,000
— MOt=S S At} 9,831
ANZ LA SAZCUHIOIH XI& 8,713,000& » 14 8,713
CNEASAHME R RAZAREH 2R
1,118,000& * 14 1,118
— & HIQITH A 0t 410,294
TSSe UL AX A 10,294,000& * 14l 10,294
DTCAHBAY (SRS ) (RS EHI)
400,000,000& = 14 400,000
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500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE
Z2-2-8-5 Off &4 & E Ol At
— S AIDt 543,000
- TAEESIAGNL A (RelsUHERIDN)
333,000,000& * 14 333,000
-ZAMSOISAS(ZEAZ) 210,000,000& = 14l 210,000
— A& 75,000
- SEAXNSUAS KNS FHHI ALY 75,000,000& = 14| 75,000
— Gt 4,023
-sANEE22AMAMNE 4,023,000& * 14 4,023
— A= 622,098
- FIZMESH(FAHASA) 619,248,000& = 14l 619,248
- SHEZOHAFEINEX ALY 2,850,000& = 14 2,850
— SHAS 282,832
- sHEAS MEIAMNE ALY 7,107,000& = 14 7,107
JEHAXNFAFE X H 7,350,000& = 14 7,350
SoFHAX2SEHIXJ 75,000,000& * 14| 75,000
- NASSIMAZMESNE 21,600,000& = 14| 21,600
- EMEEIIINEXNE 450,000 = 14 450
M ZENAZYEXESHIXNE 300,000& * 14 300
- EESSYRHEXNH 300,000& * 14 300
- A EENAA X SN RMIZHIXE 450,000 * 14! 450
- MZAMOIALB 2 XA (ZSESY) 10,200,0008 * 14! 10,200
-AUESHSER2ERNF ALY 200,000& * 14 200
ASaESAIEXXNE 3,750,000& = 14 3,750
SEHQAEIAXNMNSNHANFAZZIH2F
18,000,000& = 14! 18,000
SSASHELINIAHELESE 2N
900,000& = 14l 900
SHLGUAMOI B ALK & 02t el 630,000& = 14! 630
- DI=0lEEEH0I 40t ZHI XA 3,900,000& = 14 3,900
- HARRETE 8,400,000& = 14! 8,400
- HEIIIEH 450,000 = 14! 450
- EAEMI oS HIXR 180,000& * 14 180
CHEIUNEASFEXNR 105,000& * 14 105
DM = HIXR 1,800,000& = 14! 1,800
- ENEAAE 2R 1,110,000& = 14! 1,110
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500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE
A.2.5.2 Off &4 & & Off &t
- SERSUH2EXNE 11,100,000& * 14 11,100
SsHeIGEHLENE 5,400,000& = 14 5,400
gR=ssZEM=EXNE 18,000,000& * 14 18,000
DS EANLEUEAY 255,105,000 * 14 255,105
— oA S Y 503,412
=Bt S U X & 27,336,000 * 14| 27,336
s xA=Zl N HEX =K 42,375,000 * 14| 42,375
SR A== = DADN DNE-=\ g=ai 4,942,000 * 14 4,942
-ELHENSS 17,292,000& * 14l 17,292
- FIIZH SN 3AAE 297,382,000& = 14l 297,382
NS ZEHHMANLE UK 30,000,000& = 14 30,000
- ANE20S X 157,000 * 14 157
c AFHIOFS THEHAIE X & 23,079,000& = 14 23,079
- SEXS (A )MAAILSE S RIE  54,999,0008 * 1A 54,999
-SENS (ML, ASHS)UAANLSEUSAE
5,850,000& = 14 5,850
— =& 500,954
IR EAE 2| 47,644,000 = 14 47,644
- FHG AR AL X 48,851,000& » 14| 48,851
cTHSHLHAE S A= 31,125,000& » 14| 31,125
cHXN A2 EERR T ALE 1,800,000& = 14 1,800
- SUIESEM 6,237,000& » 14| 6,237
cGPSHZIIUAIHESSMATE 2,430,000& » 14| 2,430
-JtssotEg e 16,200,000& = 14l 16,200
- HAUSISSYMA ALY 4,320,000& * 14 4,320
cSHEABEHASHESAA 13,800,000& * 14 13,800
-HUSMUESAUTANA2E LA 30,000 = 14! 30
-ABRMdeH () HEEE Y 52,857,000& * 14| 52,857
- AHEEASAR 50,000,000& = 14 50,000
cHSHE TGN Z MG 4,500,000& = 14 4,500
- SMS0IHHM (A EFZAY]) 12,384,000& * 14l 12,384
- SMSHACCPAH E E (s &) ALY 2,880,000& = 14 2,880
-SSEHNH2EXNE 32,351,000& » 14| 32,351
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
e sotCvagd g el Tt & Xl At
9,000,000& = 14! 9,000
StNRKRsAXH 33,088,000& = 14 33,088
- A MASAIL | XM X R 40,446,000& * 14| 40,446
- AMNBYAESAHFLXH 9,360,000& = 14 9,360
IS 2L EHI A ZHI X 3,000,000& = 14 3,000
EHE=sEHEXE 6,510,000& = 14! 6,510
St SOHM & ALY 16,176,000& * 14l 16,176
SE0EE L35 1,200,000& * 14 1,200
ENSHEMEINAHEZH LI 27,000,000& = 14| 27,000
IIEE2aEUHIE X3 6,765,000 = 14! 6,765
SEEHINRSXR 18,000,000& = 14l 18,000
HHHEEXR 3,000,000& = 14 3,000
—sENc 60,000
FAXNL2INAHSSIAX 60,000,000& * 14 60,000
—A=NE2LIAIR A 36,525
st=dHl 2t ME A 36,525,000 * 14| 36,525
O&HEx=S 41,047,543
—Jl=olatA 35,219
AH HIZE AFALE HI 10,891,000& * 14l 10,891
B =SE AR XA 24,328,000 * 14| 24,328
—SE2d44 42,236
HASS A0 IO 2= 2,026,000& » 14 2,026
XS E 232 AHHH X AL 27,864,000 * 14 27,864
FES0SE 45X 2,000,000& * 14 2,000
2t Z2 082 N2 S 10,346,000& » 14 10,346
— 2 X2l 2 M Dt 2,180,111
PRSR=Roaly\ ESpea §yel 1,943,000& = 14 1,943
FAXNAUE &S AY 36,000,000& = 14 36,000
LReIEEANAHIIRAI)E XX
10,000,000& * 14l 10,000
SAJLAEASM 7,200,000& = 14 7,200
BEUIZTALETH S ALY 26,950,000& * 14 26,950
-Iit-1EE0 S0 2S 30,000,000& = 14 30,000
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
2 FELRFIISAA 18,816,000& * 14 18,816
-HSdSSI2HIHEXN 2 10,824,000& = 14l 10,824
AzZEEN B EE XS 30,000,000& = 14 30,000
- U YLABRE XA 90,000,000& = 14 90,000
- 22X 0SHEIIU X 7,500,000& = 14 7,500
- SYHENEAEHEAY 15,000,000& * 14 15,000
HSANTHHLYAZEZ2I NS ALY 1,080,0008 » 14 1,080
- HSANEEEINLHSHBI AKX S 2,786,000 » 14| 2,786
- HSANE}THSHX AL 10,656,000& = 14 10,656
- EHEtA g AR 16,400,000 * 14 16,400
HSANTAESE U ALY 1,000,000,000& * 14 1,000,000
Sebd S EAME 305,469,000 * 14 305,469
- HSAEETHAEALIHE = AL 20,400,000& * 14| 20,400
- MOISNASHEIGHI(EIOIH2B) 2SS ALY
2,400,000& * 14 2,400
LPIFAAIE A E A EEH Z ALY 13,860,000& = 14l 13,860
cEAADNIESS NS XS 126,040,000& = 14 126,040
- LPGAE MEHAZ S AL (RHA) 270,000,000& = 14l 270,000
A H BN E LA 2SN ESE 50,000,000& = 14 50,000
SE2ZZAMY 14,687,000& = 14l 14,687
ATHAON U X ==X & A 49,800,000& = 14 49,800
CAUTHAHA UK ZUEBHEANARSEX(Z22E)
5,400,000& = 14! 5,400
- SXAE0 R E A 6,900,000& * 14| 6,900
—SXaEn 220,579
SEMWINSSNANEEES 151,079,000& * 14 151,079
dIgBEHIISZIUE 50,000,000& = 14| 50,000
AEHAN = SSAESE 19,500,000 = 14l 19,500
—HHHO AP A 324,000
JELZ0sATHIIBESSAI LM 2R
224,000,000 = 14l 224,000
NS EagdsdXIHA LAY
100,000,000& * 14 100,000
- SSAE 282,015
SASIAAHEIE 12,000,000& = 14| 12,000
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& 500 ExX3
2 520 Al - SHIBEZ2S
g: 521 Al - ZHIEXZ3ES
E.2-8-2 0l &k o8 B ol by
CHEHA A2 AT 10,500,000& = 14| 10,500
S s e 265,000,000& = 14 265,000
AR EAN=ES 975,000,000& = 14| 975,000
cSANSASZIEIAEAXNLMFIHL 4,500,000& = 14 4,500
- UEE s 37,620,000& = 14 37,620
- FTAEI XIS E3HALS 226,000& = 14 226
CMEHACRAULYSAIE 2,800,000& = 14 2,800
MESZAANE (DAY, ZAED) 2,000,000& = 14 2,000
-EEUXNEXNSE ST 2,500,000& = 14 2,500
- XAHLOENELCLXNE NS L S| 1,800,000& = 14 1,800
- A =SE Il o= M 8,820,000& = 14 8,820
cMESEML A 21,045,000& = 14 21,045
A EA SN A 924,000& * 14| 924
M EASEEMY 1,500,000& = 14 1,500
-AE2A2LEHREA 2,523,000& = 14 2,523
SR el 23,598,000& = 14 23,598
S Z AR QA 173,180,000& = 14 173,180
CMELAMERFUH 8,675,000& = 14 8,675
M S ASE DX 160,000,000& = 14 160,000
- AhE 2 Al IR 2 AL A 8 (GPS) 700,000& = 14 700
- MEFHTH RAZSMAALS 3,000,000& = 14 3,000
- s 17,176,000& = 14| 17,176
MAaSHMZRA A 51,456,000& = 14 51,456
NG DS HE ALY 100,000,000& = 14 100,000
— Z 3ol =t 1,190,450
- 2SN ESH XA 5,400,000& = 14 5,400
-EXNEE2MEE 2/ X 22,230,000& = 14 22,230
-FEES MBS AKX 900,000& = 14 900
- REEIHERANSAA 2,100,000& = 14 2,100
cHAHASMSHSA 22 (8= M3 ) 40,000,0008 * 1A 40,000
- EXNEE2MES 320,000,000& = 14 320,000
SEXNZEEFMHHLETNAIAE RS 20,000,000& = 14 20,000
- SIS SR I EAMY 210,000,000& = 14 210,000




B o500 BE2
2 520 Al - EHIEEXSS
5 521 Al - SHIBESS
H.o@-g-2 ol & FSTEL= PN ET
ASSLALHYPUESAES AT R
6,500,000& * 14 6,500
SN DYLHA 3,800,000% * 14l 3,800
CEEEPHOSYA 22,000,0008 * 14 22,000
- QS EHIOIEI0IK R (AI2) 10,980,008 * 14! 10,980
= ] 18,000,008 * 14! 18,000
- HAM=XE 18,000,000 = 14l 18,000
NENEEE ] 12,000,008 * 14! 12,000
CHDSSHSBHI 9,040,000 * 14! 9,040
NS A RS YN 4,500,000 * 14! 4,500
- RNUSAHER 30,000,0008 * 14 30,000
SHSHANATLHAY (ZH) 377,000,0008 * 14 377,000
 2SHANATLAY (XH2) 58.,000,0008 * 14/ 58,000
—22ISY 1,786,520
CEHPRVBNASAY 1,085,000,0008 * 14 1,085,000
SAANBBIUELSAY(IE) 597,000,000 * 1A 597,000
20202 BOIHAIZE RO ER  9,000,0008 * 14 9,000
QUADMHRAASHLUXA  17,000,0008 * 14 17,000
CCAREAMAY A E 3,000,000% * 1A 3,000
CYSHESHS X002 (M) 52,000,0008 * 14 52,000
CAMSIHESNAAY 2,100,0008 * 14! 2,100
CRLMBHENBYALSELNY 1,650,008 + 14 1,650
S YSHESASHA 12,000,0008 * 14! 12,000
COIRIOIAN LI S E 0101 A Y 3,000,000% * 1A 3,000
CO{RIOIDISABZSAT OIS AK 960,0008 * 14 960
CAESHMASTRIY S 1,500,0008 * 14 1,500
SLTEAMALBRIK 1,500,0008 * 14 1,500
CBESTH A AE RN R 810,0008 * 14/ 810
- Asd=D 443,730
SFEAUMOIHES HE X R 27,000,0008 * 14 27,000
CANPHNBSSHIILSLNY 156,070,008 « 1A 156,070
CAMSTRAIIEHECUSI WA KA 30,000,008 * 14 30,000
CYFEHHIBRE I L RS 10,000,008 * 144 10,000
MEHSDASYN 8,640,000% * 1Al 8,640
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